Mathematik

Losungsbeispiele zu Gleichungssystemen

Additionsverfahren

Name:

Klasse:

Datum:
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6x—-2y+8z=24 |- 2
4x-8y+4z=20 | -(-3)
6x—-4y+3z=16 |- 2
12x— 4y+16z= 48 (1)
—12x+24y—-12z=-60 (2)
12x— 8y+ 6z= 32 (3)
(1) +(2) 20y +4z=—12 | -3
(3) +(2) 16y—6z=—28 | -2
60y +12z=-36 (4)
32y—-12z=-56 (3)
(4) + (5) 92y=—92 | 192
y=-
in (4) —60+12z=-36 | +60
12z= 24 | 212
z= 2
in (1) 6x—2-(-1)+8-2=24 | —18
6 X = 6 | - 6
X =1
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Name:

Mathematik

Losungsbeispiele zu Gleichungssystemen
Einsetzungsverfahren
4Y - 3*=3888
X “+ y = 7 | - X
4Y - 3% =3888 (1)
y =7 - x (2)
(2) in (1) 477 . 3% =3888
7
4—X-3X = 3888 14
4
3* 3888
4 4

3* 243-16 243

3x 5
4% 45
& -6)
4 4
X =5
in (2) y=7-5=2
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